
 

WHY do we use OLG

agents don't live infinitely they die

new agents are born overtime
considers the dynamic interaction betweengenerations folders decisions affect Youngers

tractable alternative to infinitely lived representative agent

nutBreak First Welfare Theorem
Break Ricardian equivalence and the implication that licks

Real world implications existence of rational bubbles pension schemes

1
without any behavioral assumptions on

preferences

The number of generations N is determined by N different types of agents
or behaviors that one wants to show

The Environment

people live for N 2 periods oldandyoung Additively seperable utility

0
agents of gen t Cf Ct UCt U Cta
No Altruism no bequests

for simplicity assume zero population growth N young Nold

pure exchange economy abstract from production function

Conclusion

models can be solved for stationary nonstationary equilibria



first remember 1st welfare theorem C.E Poo Kl non saturation

2nd s 17.0 c E concavity of a
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c E is not pareto optimal works for DE o D

this is called Dynamic Inefficiency Dueto the missing market

So far I calculated stationary equilibria what about non stationary eq

ZttLt O Zt It

Is UCZttet Et ul Ztt et z O Ztt G Zt
if aft isinvertible

the sequence 23,7 gives the nonstationary eg

Applications

7 Learning true parameter of st overtime by different generations

Now introduce government butnotyet debt

EE ww Itr 0 o

again introducing taxes might be Pareto improving if we have dynamic inefficiency

Now introduce government debt price in t.to is Gto
and claimsone unitof cons in t.to

I 1 4 1 get no arbitrage implies
returnon debt return on private lending

qty 1 4 1

government's budget constraint beget Tt to be mixed financing

old s s Ct Wo to bt1

young s s s Ct WI TTY Gtbt onlytheyoungbuythebond



market clearing for bonds supply of bonds 9tbt bt i Tt Tf
demand for bonds St Ct WII Tt

marketclearing condition Ct WE to be

in eq q
I rt KECILU Ctu

Cto WE Tf bt 1 note that T bi cannot be toolarge

I WI TI bt1

Now Supp T O if rt k o debt would be
constant overtime bo

if rt o X

if rt so V debt converges to zero

Ricardian equivalence breaks down

Now let's suppose in contrast to bonds we have a long lived asset A ahouseland

Ahas price Pf Pete in period td and pays dividend dt D

due to no arbitrage
return on A is equal to private lending

return rt

Assume perfect foresight Pt Ptt

individual budget constraint Ct wt Piatti
Ct Wtf Pt d Att

Market clearing at A agg demand of asset agg supply

interest rate is given by dc I A
UCCE

the price sequence satisfies pt Pttd_1 41



let us only investigate stationary eg
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ltr l dr sp dr price is discounted future dividends
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This is known as Rational Bubble where do and P10

Note that consumption is equal in each period ett not necessarily a bad thing

Generally rational bubble can rise whenever rag

bursting happens when people start to think P o

Applications Macro public finance Diamond 1965

therole of money Samuelson 1958 Monetary economics

pension schemes

growth demographic transition capital accumulation

consumption smoothing lifecycle theories

sunspot equilibria

Finance liquidity bubbles

market incompleteness effect on hedging

check with Ramtin later for the controversy


